For details about certified products
conforming to international standards,
visit us at www.smcworld.com.

ceql

5 Port Solenoid Valve
Body Ported

Series VZ300

How to Order
e?%d\
$
¥ ®
S < 20
S @ \
\;8‘\ 57 (\@ \\c}\’b & 0(\9
9 R & & ) K O p—
W2 $ O &2 9 9 >
S S ) & & & & % VFR
Q S 32 & Ry ) ) 3
<3 o AARABS AR 3 S ——
LA VZ3|1 (205 || L — M5 VP4
Type of actuation o—] l VZS
2 position single Option L
) F: With foot bracket VFS
1 ﬁ |\\ IEE (2 position —
1T single type only)
b Body option ﬂ
0: Individual exhaust
2 position double for the pilot valve U: With silencer VQ7
(,:) (g) f L —
| o T — ==
Tir ] - ——
M K: With foot bracket
F§5 l1D Fa‘? s { and silencer VFN
LGl 3(R) port  PE port (2 position single only) —
3 position closed center
(A) (B 3: Common exhaust type Note) The bracket and silencer
4,,2 for main and pilot valve Q are not assembled.
s | O N
L ﬂ ® 4(A), 2(B) port size
(R1) (P)(R=2) | M5 M5 x 0.8
3 posii haust cent : — C4 One-touch fitting for o4
post |02q)ex( z)aus center 3(R) port  PE port Cc6 One-touch fitting for @6
Q Note) 1(P), 5(R1), 3(R2) port: M5 x 0.8
4 i|>'_ Aﬂ \
Hr \[\\. Rated voltage &——
B 1 100 VAG, 50/60 Hz ¢ Manual override
2 200 VAC, 50/60 Hz Nil: Non-locking push type C: Locking type C (Manual)
3 position pressure center 3* 110 VAC, 50/60 Hz .
(A} (B) 4* 220 VAG, 50/60 Hz 1
5 L 5% 24 VDC B: Locking type B
jG“IT I rJ \\ hﬁ 6 12 VDC . (Slotted)
5 9* Other \
R (P) (Rz) Q = Option /L/,P‘/
Electrical entry ¢ * Light/Surge voltage suppressor
Grommet L plug connector M plug connector DIN terminal Nil None
G: Lead wire length |L: With lead wire | M: With lead wire MN: Without D: With connector Z* With light/surge voltage suppressor
300 mm (Length 300 mm) (Length 300 mm) lead wire s With surge voltage suppressor

H: Lead wire length
600 mm

g

LN: Without
lead wire

LO: Without
connector

MO: Without
connector

Q + Not available for “GZ”, “HZ” and “DOZ”

DO: Without
connector

Q * Type “LN”, “MN”: With 2 sockets.

3-3-17



Series VZ3000

Applicable for cylinder
actuation (up to 040).

Compact size
(Width: 15 mm)

Low power consumption:
1.8WDC

Refer to pages 3-3-24 to 3-3-27 for manifold use.

Specifications

Fluid Air

Operating pressure 2 pos.it.ion single 0.151t0 0.7

range (MPa) 2 posﬂloq fjouble 0.1t00.7

3 position 0.15t0 0.7

Ambient and fluid temperature (°C) —10 to 50°C (No freezing. Refer to page 3-13-4.)
Response time (ms) (| 2 position single, double 20 or less

(at the pressure of 0.5 MPa) 3 position 35 or less

Max. operating 2 position single, double 10

frequency (Hz) 3 position 3

Effective area
Manual override @
Pilot exhaust method
Lubrication

Refer to the table below.
Non-locking push type, Locking slotted type, Locking lever type
Individual pilot exhaust type, Common exhaust (pilot and main valve) type
Not required

Mounting orientation Unrestricted
Impact/Vibration resistance (m/s?)® 300/50
Enclosure Dustproof

Note 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at
rated voltage, without surge suppressor)

Note 2) When operating the locking type manually, apply torque of 0.2 N-m or less.

Note 3) Impact resistance: No malfunction occurred when it is tested with a drop tester in the
axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000
Hz. Test was performed at both energized and de-energized states
in the axial direction and at the right angles to the main valve and
armature. (Values at the initial period)

Solenoid Specifications * Option

Grommet (G)/(H), L plug connector (L),

Electrical entry M plug connector (M), DIN terminal (D)

AC 50/60 Hz 100, 200, 24*, 48*, 110%, 220*
DC 24, 6%, 12% 48*

Coil rated voltage (V)

Allowable voltage fluctuation (%) —15 to +10% of rated voltage

Power consumption (W) Note) 1.8 (With indicator light 2.1)

[Current mA] bC [24 VDC: 75 (With indicator light 87.5)]
Note) TTER [100 VAC: 45/50 Hz, 42/60 Hz }
Apparent power (VA) AC nrus 4.5/50 Hz, 4.2/60 Hz 200 VAC: 22.5/50 Hz, 21/60 Hz
[Current mA] Holdin [100 VAC: 35/50 Hz, 30/60 Hz }
9 35/50Hz, 3/60 Hz | 54 yaC: 17.5/50 Hz, 15/60 Hz

Surge voltage suppressor DC: Diode, AC: ZNR

Indicator light DC: LED (Red), AC: Neon bulb

Q Note) At rated voltage
uede °| Made to Order Specifications
(For details, refer to page 3-3-85.) Option

3-3-18

Description Part no. Note

With foot | py1170-34-18 For VZ3123

bracket

Silencer AN120-M5 Noise reduction: 21dB or more
(28 x 17 mm)

o
5



5 Port Solenoid Valve

Body Ported Series VZ3000

Flow Characteristics/Weight

Port size Flow characteristics Note) Weight (g)
Valve model Type of actuation 1,53 | 42 1— 4/2 (P — A/B) 4/2 — 5/3 (/B — EAJEB) onti9
(P EA,EB)| (A, B) |C[dm3/(s-bar)] b Cv__ |C [dm3/(s-bar)] b Cv Grommet
2 Single 75
position Double 0.47 0.41 0.13 0.47 0.41 0.13 120
VZ3[120-00-M5 3 Closed center | M5x0.8 | M5x0.8 0.49 0.44 0.13 0.44 0.40 0.12
position Exhaust center 0.46 0.37 0.12 0.47 [0.39] |0.43[0.35]| 0.13[0.10] 130
Pressure center 0.49[0.39] | 0.51[0.38] |0.14[0.10] 0.45 0.42 0.12
2 ile 0.69 0.39 0.18 0.44 0.39 012 1
position Double C4 120
VZ3[020-1-C4 3 Closed center | M5 x 0.8 | (One-touch 0.69 0.40 0.19 0.43 0.40 0.12
position|_Exhaust center fitting for @4)|  0.56 0.40 0.15 | 0.41[0.41] [0.37[0.37][0.10 [0.11] 130
Pressure center 0.57[0.41] | 0.4 [0.37]|0.15[0.10] 0.41 0.37 0.10
2 Single 75
position Double cé 0.70 0.36 0.19 0.47 0.40 012 459
VZ3020-0-C6 3 Closed center | M5 x 0.8 | (One-touch 0.72 0.37 0.19 0.44 0.34 0.12 ——
position|_Exhaust center fitting for 06)|_ 0.67 0.54 019 | 0.41[0.41] |0.38[0.38]0.11 [0.11] 130 VFR
Pressure center 0.82[0.44] |0.41[0.39](0.23 [0.12] 0.41 0.36 0.11 —
Q Note) [ ]: Denotes the normal position. Exhaust center: 4/2 — 5/3, Pressure center: 1 — 4/2 VP4
. . VZSs
. Use as a guide for selection. L
Cyllnder Speed Chart Please confirm the actual conditions with SMC Sizing Program. VFS
Bore size
Series CJ2 Series CM2
A
. verage Pressure 0.5 MPa Pressure 0.5 MPa VS4
Series speed || oad factor 50% Load factor 50% p—
(mm/s) |Stroke 60 mm Stroke 300 mm vQ7
26 210 216 220 225 232 | 040 it
800 — —
P dicular,
700 = us\:\?ﬁ\erg ;%Ltjue;rtion EVS
288 [ ] —1__| | [JHorizontal actuation —
VZ3120-M5 | 400 — — ] VEN
i I il = o
100
o1
= |t is when the cylinder is extending that is meter-out controlled by speed controller which is
directly connected with cylinder, and its needle valve with being fully open.
* The average velocity of the cylinder is what the stroke is divided by the total stroke time.
* Load factor: ((Load weight x 9.8)/Theoretical force) x 100%
Conditions
Body ported Series CJ2 | Series CM2 Series MB
Tube bore x Length g4 x1m 26 x1m 28x1m
SZ3120-M5 | Speed controller AS1301F-04 | AS3301F-06 AS3301F-08
Silencer AN120-M5 AN110-01
V. 3-3-19
S SVC



Series VZ3000

Construction

AYB)
4

2 position single

8]

T

51 3
(R1) (P)(R2)

@

| —®
e
B

i

2 position double
(/j:)(B)

S JANES

51 3
R P)(R=)

l leler

5 1 3 PE PE 5 1 3
(R1) (P (2 R P (R
3 pOS“iO”( :)"(’;fd center 3 position closed center/exhaust center/pressure center
rel | ) N/
51 3 (
RY) P)R) ! sl |
o e
3 position exhaust center ( T alb
(A B) i = = = =
4,2 ! . : =
R AR F = oot |
51 3 - : ; -
PE 5 PE
) PR2) & & @ |
. ) 3
3 position pressure center
(A) (B)
D%“LT T1 TT:\B\'HM (This figure shows a closed center type.)
(R1) (P)(R2)
Component Parts Replacement Parts
No. Description Material Note No. Description Material Part no. Note
[©) Body Aluminum die-casted Platinum silver (@ | Solenoid assembly |Epoxy/Stainless steel| DXT170-C-000
@) Piston plate Resin Black . Common with
@ | Piston Resin O-ring NBR 18x11XT | geries vz 1000
O] Spool valve Aluminum, HNBR
® End cover Resin
® Spool spring Stainless steel
3-3-20

o
5



5 Port Solenoid Valve

Body Ported Series

VZ3000

e 2 Position Single

VZ3120
2-026 71.5 A ®
Grommet gG)’ (H) Mounting hole for manifold 48 4 2
VZ3120-005000-M5 ] M \\
= -4 ) by gl
Flol TTTATAT B 5 1 3
‘ 7| g v R (P)R2)
i = —
= 10 \_Manual override VK
106 19 (Non-locking) 25 L
ﬂ EET— 4
EE|Q il
Bracket Ss s a
7 rm1 g ; g Tty —
] T = o VFR
j: | 'E)‘ / L
a1 = 28 VP4
1 [v] —
- |- = | —
_Tg%ﬁ == s VZS
3.5 4] 1 \ 2-02.6 Ve g - —
' 195 Mounting hol .
oy _l("g-o5un ing hole) 9035 / 2 VES
(Mounting screw) (Mounting 18 —
i 435 M5x0.8 hole) VS4
:r-: B / (PE port) p—
(. & & vQ7
! @ PanY i —
1S ] EVS
H T T I
2ol 21 5-M5%0.8 [ re=ns
(Piping port) VFN
L plug connector (L) < M plug connector (M)
VZ3120-CJLOO-M5 g VZ3120-0OMOO-M5
735 £
% ol 89 =300
‘ % 3 (Lead wire length)
h i =} ‘rr:_‘j—_'
T — i | L] AN
I i fmele | «
i’iéﬁ%!é - — : Q
= O: With light/surge voltage suppressor
DIN terminal (D) Built-in One-touch fittings
VZ3120-0DOC-M5 VZ3120-0000-82
90.5 MAX. 10 ©
Applicable cable O.D. ~ '\ 2-One-touch fitting
03.510 67 é é A B oort
— A == gp;plicpaobrle) tubing model
@ S§E 38 C4:T0425
‘ _Pg.:.’\ C6: T0604
] L. 3| © [
| g T 0 Sl I N
| o
E2ele | = e ¢ | e
i i

3-3-21

O
5



Series VZ3000

2 Position Double

x;—g
[ VZ3220

@ ®
Grommet gG), (H) 104 L=
VZ3220-0800-M5 57 \\
L | DL
- AT A&+ B—= -
§ AR _@j R | - ) OFE
10 Manual override
Non-locki
19 Me26’ =
Mounting hole for manifold g
| ¥l
5s
' . 883 s
& I'm'l [ é'i rtm'dﬂn
I s )
& &
T R O N - —
1 2-02.6 15
120 (Mounting hole) 16
48 2-M5x0.8
‘ | (PE port)
F Ri
o0 é—aﬁm
il h R2 -
* 1
21 T 5-M5x0.8
(Piping port)
L plug connector (L) . M plug connector (M)
VZ3220-C0LO0O-M5 §, VZ3220-CMOO-M5
@
108 §
E 139 =300
)

(Lead wl‘ire length)

_ ’*r/*—??:" , lH
!\ T ,—_T_ — ,,:H‘ ﬁ ‘\\
sle | o] N[E

— B
- S P Q
O: With light/surge voltage suppressor
DIN terminal (D) Built-in One-touch fittings
VZ3220-0D00-M5 VZ3220-0000-8
142 | MAX. 10 o
. Applicable cable O.D. ™™ 2-One-touch fitting
i / 93.510 07 x% ~_ (A, Bport)
= = == . Applicable tubing model
= = < © C4:T0425
@ @ ce \, ce: T0604ﬂ
wl 15 ===
=N 25 — T @ 0 o ] H LL [ ]
ﬂ, — I »
4| = — b e

3-3-22

o
5



5 Port Solenoid Valve

Body Ported Series VZ3000

3 Position Closed Center/Exhaust Center/Pressure Center

-
. 61 VZ3320 a ®
4, 2

Grommet (G), (H) 3 67.5 _ 53 B
VZ3%20-0500-M5 44 e 205 Sa
. RP)(R=)
5N AN A6 g 3 V23420 @2
VI 1% glliG_ 18y o
: VK
0 10 = ! 5 13
Manual override R1)PP)R=) L
19 (Non-locking) VZ3520 (2) (g) VZ
- 2026 = %M
(Mounting hole for manifold) g’ &1y V
ﬂ é g o RIP)R=) ——
ﬂ ik VFR
0 ©o g L
R A_ %= VP4
— f_|— [y R
d—__.___: % @ VZS
& ' VFS
(Y] I
15 —
: i VS4
136.5 (Mounting hole) e
i vQ7
39.5 25 2-M5 x 0.8 (PE port) -
EVS
i to—foo. a6k VFN
| — \‘J RQ{\ —P- S
21 5-M5x0.8
(Piping port)
L plgg connector (L) M pléjg connector (M)
VZ3g20-DLDD-M5 % VZSgZO-DMDD-MS
g
1245 §
5 155.5 =300
55 S 70.5 (Lead wire length)
I s . ! )
I 1 € “'—‘7 | . i s e
i)} . g BE] I T — m@
—_— — _ | . &3
o
S—— | b o]
Q O: With light/surge voltage suppressor
DIN germinal (D) BuiI;—in One-touch fittings
VZ3§20-DDDD-M5 VZSg 20-0000- 8‘5}
1585 MAX. 10 © »
Applicable cable O.D. ~ 2-One-touch fitting
68.5 S (A, B port)
23.510 07 <§( <§f Applicable tubing model
% == e C4:T0425
= = 00O - C6: T0604 ﬁ
Pg.7
gm, r~ A | % A
ﬂ» | ] & ] ™ f L o s —
— e 11 - > -
3-3-23
ZSNIC



series VZ3000/Body Ported
Manifold Specifications

Manifold Standard

Manifold Specifications

Model Type 20
Manifold type Single base/B mount
P(SUP)/R(EXH) Common SUP/Common EXH

Valve stations

2 to 20 stations

4(A), 2(B) port location

Valve

Port size 1(P), 3/5(R) port

Rc /8

4(A), 2(B) port

M5 x 0.8, C4, C6

Flow Characteristics

Port size Flow characteristics
Manifold 1(P), 53(R)[2(B), 4(A)| 1 — 4/2 (P — A/B) | 4/2— 5/3 (A/B — R)
port port (Cldm¥sha)]] b | Cv [Cldm¥shar)]] b | Cv
1/8 M5x0.8| 0.46 0.39/0.12| 0.75 0.32]0.19
Body ported
i, . vv?zgzzo vzameo| 18 | c4 | 062 [0.33]0.16] 0.83 |027]0.20
1/8 C6 0.79 0.36 | 0.21 0.91 0.36 | 0.24

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold

with the manifold base model no.
(Example) VV5Z3-20-031.............. 1
x\/Z3120-5G-M5.

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along

pc. (Manifold base)

... 2 pcs. (Valve)
*DXT192-13-1A ........... 1 pc. (Blanking plate assembly)

T The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

Flat Ribbon Cable Manifold

Flat Ribbon Cable Manifold Specifications

* One-touch wiring to
consolidate connection of
external wires.

e Clean appearance
The flat cable provides wiring on a
printed circuit board to the individual
valves at the manifold base, enabling
the consolidation of external wiring at
a touch through a 26 pins MIL
connector.

3-3-24

Model

Type 20P

Manifold type

Single base/B mount

P(SUP), R(EXH)

Common SUP/Common EXH

Valve stations

3 to 12 stations

4(A), 2(B) port location

Valve

Port size 1(P), 3/5(R) port

Rc /8

4(A), 2(B) port

M5 x 0.8, C4, C6

Applicable flat ribbon
cable connector

Socket: 26 pins MIL, with strain relief
(Conforming to MIL-C-83503)

Internal wiring

+ COM (For — COM specifications, specify them separately.)

Applicable valve model

1
VZ3023-2MOZ0- &4
H Cé

Rated voltage

100 VAC 50/60 Hz, 110 VAC 50/60 Hz, 24 VDC, 12 VDC

Q Note ) Withstand voltage specifications of wiring unit part is equivalent to JIS C 0704 class 1.

Flow Characteristics

Port size Flow characteristics
Manifold 1(P), 5/3(R)|2(B), 4(A)|_1— 4/2 (P — A/B) | 4/2— 5/3 (A/B — R)
port port |CldmY(sbar))] b | Cv |CldmY(sbar))] b Cv
E— T 1/8 M5x0.8| 0.46 ]0.39]|0.12| 0.75 |0.32]0.19
00y portec ype |yz3m23| 1/8 C4 0.62 |0.33]/0.16| 0.83 |0.27|0.20
For internal pilot | VV5Z3-20P 1/8 c6 0.79 0.36 021 0.91 0.96 | 0.24

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold

Instruct by specifying the valves, blanking plate assembly and connector assembly to be mounted
on the manifold along with the manifold base model no.

(Example) VV5Z3-20P-07......
x\/Z3123-5MOZ-C4..
x\/Z3223-5MOZ-C4..
*DXT192-13-3A.......
«DXT192-52-1-4A.
xDXT192-52-2-4A...........

.. 1 pc. (Manifold base)

.... 3 pcs. (Valve)

.... 3 pcs. (Valve)

... 1 pc. (Blanking plate assembly)
... 3 pcs. (Connector assembly)

... 3 pcs. (Connector assembly)

'L The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

SVC

O




5 Port Solenoid Valve .
Body Ported Series

|Common SUP/Common EXH

|

VZ3000

Option

Type 20
How to Order

VV5Z3 - 20

05

1-

4(A), 2(B) StationSo—I Ip, R port
02[2stations  thread type
il ¢ TNl ] Re
20 |20 stations 00F G
00N | NPT
00T | NPTF

Applicable solenoid valve
G s
VZ3O20-0yO00- ¢4
D C6

Applicable blanking plate
assembly

DXT192-13-1A

Individual EXH spacer
assembly

DXT192-21-1A

Individual SUP spacer
assembly

DXT192-40-2A

Flat Ribbon Cable Type 20P
How to Order

VV5Z3-20P

05

StationsJ IP, R port

: 3 stations thread type
: “Nil | Re
12 stations 00F G
00N | NPT
00T [NPTF

Option

t

Applicable solenoid valve
1
M5
VZ3023- EMOZ0- ¢4
6 C6

Applicable blanking plate
assembly

DXT192-13-3A
Applicable connector
assembly
DXT192-52-1-FHA

(For 2 position single)
DXT192-52-2-HA

(For 2 position double,

3 position)

Refer to the page 3-10-33
regarding how to order
applicable connector
assemblies. (1: 100 VAC, 3:
110 VAC, 4: DC).

Combinations of Solenoid Valve,
Gasket and Manifold Base

Round head combination screw
M2.5X25
(With spring washer)

Applicable base
VV5Z3-20
VV5Z3-20P
VV5Z3-21

| Individual EXH Spacer Assembly |
DXT192-21-1A

i Round head

| combination screw
M2.5 x 36

(With spring
washer)

Blanking Plate Assembly |

DXT192-13-1A

Round head combination screw

v

\
Applicable base
VV5Z3-20
VV5Z3-21

DXT192-13-3A

[ i e e e e

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I
|
1

Dust cap

VJ3000-57-1
|

’ ‘ DXT192-10-2
s Lo

M2.5x7
(With spring washer)

Blanking plate

DXT192-13-2

Gasket

Round head

M2.5x7
T ¢ (With spring washer)

|
Blanking plate |

DXT192-13-2

_,; DXT192-10-2

Installation of the VZ300 Valve
on the VZ3000 Manifold

*Use of an adaptor plate makes it
possible to mount Series VZ300 on the
manifold base of Series VZ3000.

* The mounting direction is shown in the
diagram below. Mount the solenoid so

that it will be on the same side as the
single solenoid of the Series VZ3000.
Adapter plate assembly
DXT200-3-2A
E VFR
. VP4
Series VZ300 ——
Body ported VZS
Adapter plate assembly ————
DXT200-3-2A
R e A e - |VF
1 Manifold gasket "Round head | S
:SYJ500-5-4 combination screw | [
T M25x9 |
| M25%9 | VS4
: Adapter plate : —
| /"~ DXT200-3-1 1 IVQT7
: Adapter gasket : ——
i DXT200-6-1 : Evs
|
| I
bt R A 1 [VFN
Applicable base —

VV5Z3-20
VV5Z3-21

|Individual SUP Spacer Assembly |
DXT192-40-2A

M2.5 x 40.5

]
]
I
i
(With spring .
washer) :
1
1
1
1
1
]
1

______________

1
1
1
1
1
1
]
i
Individual |
1
1
1
1
1
1
1
1
1
1}

I
Q| |
""""" i } SUP spacer
’* Gasket: | 1©) - DXT192-40-2
L2 B(R2DXTI92-10-2] Applicable base VV5Z3-20P }
ol Individual ! ™ Gasket
> EXH spacer 1 Note) Please contact SMC when using an DXT192-10-2
DXT192-21-1 § Q individual SUP spacer assembly, an  \______ /A _ ___ s
| ! individual EXH spacer assembly, or an Applicable base
£ [ adapter plate assembly on type 20P. VV523-20
& BT 1(P) port VV523-21
~ A Cauti
aution
Applicable base . " .
(5(R1), 3(R2) port) V\"}Ezs_zo ]Mountlng Screw Tightening Torques \ M2.5: 0.45 N-m
VV523-21 3.3.05

O

SvVC




Series VZ3000

Type 20 Manifold

VV523-20- Station 1

Grommet (G), (H)
2n-M5x0.8
(4(A), 2(B) port)
! (Picy 1
itch) ——
P=t6 21 . X T
25| 25 (Mount.ing ( i
; hole) 09 m
el |z :l e e b >§éﬁ 2 D07 2
- x> 3 =y ‘ OF o5
8 sl R B EEEN
- — t H ™ 4 w0 <
0 TPo Em?mﬁm%m{}m =]t - SQI
3 [~ | @ '
6-Rc 1/8
y \ (1(P), 3/5(R) port)
T L
. L2 9 M5 X0,
Manual override L1 (PE port)
(Non-locking) (Lead wire length)
(mm)

Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 58 74 90 106 122 138 154 170 186 202 218 234 250 266 282 298 314 330 346
L. 40 56 72 88 104 120 136 152 168 184 | 200 216 232 248 | 264 280 296 312 328

L plug connector (L) M plug connector (M) DIN terminal (D) Built-in One-touch
e fittings
54.5 é 775
s 70
=300 63.5
(Lea(l':_l-wire Ie;ngth) b
== || | i : * Hll
=t S| } i
u - |
i . o [ % C4:MAX.7 - 52
of S| 5 B 10 — 1Y C6: MAX. 7.5 I
3¢ +| = pa B i g o b 4=
Pt 3 o] h{
1 A =]
(o] [Ie] -
9 & rﬁ ~ by @ 2n-One-touch fitting ﬁ e\j
' % (A, B port) £
S Applicable tubing model \
4 5 C4:T0425 !
L ) 1D C6: T0604 pRa 1
= - ol © o=
oy 9 pplicable cable O.D.
o 23.5t0 07
Q 0O: With light/surge voltage suppressor
3-3-26

o
5



5 Port Solenoid Valve

Body Ported Series VZ3000

Type 20P Flat Ribbon Cable Manifold

) VV523-20P- Station|

[To]
| m VK
< I
Manual override -
(Non-locking)
2n-M5X0.8 L
4(A), 2(B) port I_12 5 —
VFR
A ! VP4
% % (Pitch) 4-p45 Fﬂ‘ ‘
© LG |P=175_ 12 Mounting hol - 6-Rc 1/8 —
N1 - T||TH| 25_[ 25 (Mounting hole) 1(P), 3/5(R) port VZS
«© Ej [ ST L | e —
0 o) o *__-_,; L = o VFS
o 4] €y 6 d e —
2 g e v i | . i 2y =)
= 3 ®$’p 5%p L% | - ot - vs4
3 g slsh—— 8|8 =1 —
[+)]
[ ——%; ; o T 5 Va7
gl 0 G B Ty
& il 1 , EVS
gy : o
(Light/Surge voltage suppressor) Triangle mark VFN
(Station n)--«eoeeeeeeneneenns (Station 1)
b
5
0
of P oW
N == +;—+ Tt Qﬂm_@\l
Connector polarity indicator 285
Applicable connector: 26 pins MIL
(Conforming to MIL-C-83503)
(mm)
Stations| 3 4 5 6 7 8 9 10 11 12
L+ 77 94.5 | 112 [129.5| 147 [164.5| 182 |199.5| 217 |234.5
L. 59 76.5 94 |111.5| 129 |146.5| 164 [181.5]| 199 [216.5

Built-in One-touch fittings

|
=)l
C4: MAX.7 = ' 52
C6: MAX. 7.5 U
4]
I
2n-One-touch fitting i ﬂ!
(A, B port)
Applicable tubing model
C4:T0425 | !
C6: T0604

SVC 3-3-27

O



C € B (M mmre
5 Port Solenoid Valve
Base Mounted

Series VZ300

How to Order

(\
S @,
R
\fbe’\ 6’\\0(\ Note) Please contact SMC in the case e
S S
2 S of without indicator light. VFR
<$ X << —
m VZ3[1 3 15| F ZM) 8&% VP4
&

4
| | [ | < vzs
[ vzs[1 a0 H5 L - o

Type of actuation 0—] l —
——— Thread type
2 position single — VS4
® O Nil Rc
2,4 “F [ & —
1 an % Bodv obti N | NPT vQ7
H ody option T | NPTF —
31 0: Individual exhaust .
RE for the pilot valve ¢ Port size EVS
2 position dOUb'eA Nil: Without sub-plate  01: Re 1/g With sub-plate —
®® - VFN
2 EAY ii f j
L 3(R) pon PE port
31 3: Common exhaust type
RE for main and pilot valve
3 position closed center
® @
H? s T ¢ Manual override/Plug-in type
3 H PE oon Nil: Non-locking B: Locking type B C: Locking type C
i 3(R) port po push type (Slotted) (Manual)
®RE)
3 position exhaust center
®w Rated voltage ¢
1 | 100 VAC, 50/60 Hz
4 2 | 200 VAC, 50/60 Hz
3*| 110 VAC, 50/60 Hz
31 %
RE ;X 2:2 xg(é 50/60 Hz
3 position pressure center ; _i
i 6 | 12VDC Manual override/Non plug-in type
2144 9* Other Nil: Non-locking  B: Locking type B C: Locking type C
5 %W + Option push type (Slotted) (Manual)
3 -
RE Electrical entry o
Grommet | L plug connector M plug connector DIN terminal
G: Lead wire| L: With lead wire | M: With MN: Without | D: With connector
length (Length 300 mm)| lead wire lead wire
300 mm (Length 300 mm)
e Light/Surge voltage suppressor

Nil None
H: Lead wire| LN: W|th0u} LO: Without | MO: Without | DO: Without Z* | With light/surge voltage suppressor
length lead wire connector connector connector -
600 mm ) S With surge voltage suppressor

Q * Not available for “GZ”, “HZ” and “DOZ”

%SNC 3-3-29



Series VZ3000

Applicable for cylinder
actuation (up to 040).

Compact size
(Width: 15 mm)

Low power consumption:
1.8WDC

Refer to pages 3-3-37 to 3-3-52 for manifold use.

to
Mgrd‘fer

3-3-30

Made to Order Specifications
(For details, refer to page 3-3-85.)

Specifications

Fluid Air

Operating pressure 2 pos.it.ion single 0.15t0 0.7

range (MPa) 2 posmon_ _double 0.1t00.7

3 position 0.15t0 0.7

Ambient and fluid temperature (°C) —10 to 50°C (No freezing. Refer to page 3-13-4.)
Response time (ms) ()| 2 position single, double 20 or less

(at the pressure of 0.5 MPa) 3 position 35 or less

Max. operating 2 position single, double 10

frequency (Hz) 3 position 3

Manual override @

Non-locking push type, Locking slotted type, Locking lever type

Pilot exhaust method

Individual pilot exhaust type, Common exhaust (pilot and main valve) type

Lubrication

Not required

Mounting orientation Unrestricted
Impact/Vibration resistance (m/s?)® 300/50
Enclosure Dustproof

Note 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at
rated voltage, without surge suppressor)

Note 2) When operating the locking type manually, apply torque of 0.2 N-m or less.

Note 3) Impact resistance: No malfunction occurred when it is tested with a drop tester in the

axial direction and at the right angles to the main valve and
armature in both energized and de-energized states every once for
each condition. (Values at the initial period)
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000
Hz. Test was performed at both energized and de-energized states
in the axial direction and at the right angles to the main valve and
armature. (Values at the initial period)

Solenoid Specifications

+ Option

Electrical entry

Grommet (G)/(H), L plug connector (L),
M plug connector (M), DIN terminal (D)

Coil rated voltage (V)

AC 50/60 Hz

100, 200, 24*, 48*, 110%, 220*

DC

24, 6%, 12*, 48*

Allowable voltage fluctuation (%)

—15 to +10% of rated voltage

Power consumption (W) (1)

1.8 (With indicator light 2.1)

[Current mA] DC [24 VDC: 75 (With indicator light 87.5)]
100 VAC: 45/50 Hz, 42/60 Hz }
Inrush ’
Apparent power (VA) ()| - ush | 4.5/50 Hz, 4.2/60 Hz[zoo VAC: 22.5/50 Hz, 15/60 Hz
[Current mA] Note) Holdin [100 VAC: 35/50 Hz, 30/60 Hz }
9] 3.5/50 Hz, 8/60 Hz | 51 yaC: 17.5/50 Hz, 15/60 Hz

Surge voltage suppressor

DC: Diode, AC: ZNR (2)

Indicator light

DC: LED (Red), AC: Neon bulb

Note 1) At rated voltage
Note 2) Plug-in should be ZNR.

| Combinations of Solenoid Valve and Gasket |

Round head
combination screw

M2.5 x 25 N

(With spring washer) ? ?

Gasket

o
5

DXT192-10-5

@2 (Use caution to the orientation.)



5 Port Solenoid Valve

Base Mounted Series VZ3000

Flow Characteristics/Weight

Port size Flow characteristics () Weight (g)
Valve model Type of actuation 1,53 | 42 15 42 (P— A/B) 4/2 — 5/3 (A/B — EA/EB) gntia
(R EA,EB)| (A, B) |C[dm?¥(s-bar)] b Cv  |C[dm¥(s-bar)] b Cv Grommet
2 Single 125 (75)
position Double 0.79 0.21 0.19 0.83 0.32 0.21 170 (120)
VZ3[40-1-01 3 Closed center Rc 1/8 Rc 1/8 0.80 0.28 0.18 0.86 0.34 0.20
position |_Exhaust center 0.71 0.26 0.18 1.1[0.60] [0.24[0.44]/0.26[0.18]| 180 (130)
Pressure center 0.99[0.47] |0.29[0.38]|0.24 [0.12] 0.72 0.38 0.18
Note 1) [ ]: Denotes the normal position. Exhaust center: 4/2 — 5/3, Pressure center: 1 — 4/2
Note 2) ( ): Without sub-plate.
. Use as a guide for selection.
Cyllnder Speed Chart Please confirm the actual conditions with SMC Sizing Program.
Bore size
Average Series CM2
. Pressure 0.5 MPa [
S speed
eres (rrF:m /s) Load factor 50% VFR
Stroke 300 mm L
220 025 032 [ 040 | VP4
800 [ Perpendicular, —_——
700 upward actuation [ VZS
600 [] Horizontal actuation
VZ3140-0000-010 500
(Piping: 94 x 1 m) 400 VFS
300 — 1 —
200 VS4
100 —F —
Speed controller/Silencer AS2301F-J01-0400/AN110-01 VQ7
800 [ Perpendicular, N EVS
700 upward actuation [ —
600 [] Horizontal actuation VFN
VZ3140-0000-010 igg ]
Piping: 6 x 1 m —
(Piping ) ol |
200 —
100 —
Speed controller/Silencer AS3301F-J02-061/AN110-01
Bore size
Average Series CA1
Series speed Pressure 0.5 MPa
(mm/s) Load factor 50%
Stroke 400 mm
040 250 063 280 [ 100
800 [ Perpendicular,
700 upward actuation -
600 [[] Horizontal actuation -
Vz3140-0000-010 500
(Piping: 6 x 1 m) 400
300
200
100 i
] e T ==
Speed controller/Silencer AS3301F-0J02-06C1/AN110-01
800 [ Perpendicular,
700 upward actuation [~
600 [] Horizontal actuation |-
VZ3140-0000-010 igg
Piping:08 x 1 m
(Piping ) o
200 :17 —
100 —‘—‘
| | ol [ [ =1
Speed controller/Silencer AS3301F-J02-081/AN110-01
= |t is when the cylinder is extending that is meter-out controlled by speed controller which is directly connected with
cylinder, and its needle valve with being fully open.
= The average velocity of the cylinder is what the stroke is divided by the total stroke time.
= Load factor: ((Load weight x 9.8)/Theoretical force) x 100%
V. 3-3-31
S SVC



Series VZ3000

Built-in Speed Controllers

VZ3050 Throttle Valve Characteristics (8 — R)
@ An exhaust throttle valve is built into the solenoid valve itself, enabling a
simple speed adjustment of the cylinder.
@ If it is mounted on a manifold base, the exhaust air will converge in the
common EXH port at the manifold base, thus simplifying the handling of
the exhaust air.
/ il
2
/
€
£
8
©
2
3
i
1
JIS Symbol /
® &
2, .4
3piAR i
TIT ﬂ
H'  (single)
RP) 5
(Fully 1 2 3 4 5 6 7 (Fully
closed) Numbers of needle rotations (turns) open)

or more from the fully closed position.
* To adjust the throttle valve apply torque of 0.3 N-m or

H HIEH less.
How to Order Valve with Built-in Speed Controller * Be careful not to open the throttle valve excessively

m VZ3 D 5 D_D D_DD as this could cause the throttle valve to fly out.

lThread type
Port size

Q Note) » To use the VZ3[53, open the throttle valve one turn

Type of actuationl

Body option Manual override

Rated voltage

Light/Surge voltage suppressor

Electrical entry

3-3-32

o
5



5 Port Solenoid Valve

Base Mounted Series VZ3000

Construction
®@ 2 Pposition single ®) (A) 2 position double
2, 4 2,4
/L 11y /1],
8 f—
31 3 1
RP) RE)
® @ ® @

TR/

O OET

3 position closed center/exhaust center/pressure center

3 position closed center

® ®@ @ @ @ ® ﬂ
3 1 T l '!/ ,’/ /," k !
RP)

3 position exhaust center
®) (A
2, 4 -
:
@ PE

PE
3 1
RP)
3 position pressure center

B) (A i
(2) .(4) I‘ !

J T

%M (This figure shows a closed center type.)

31
R P)
Component Parts Replacement Parts
No. Description Material Note No. | Description Material Part no. Note
@ Body Aluminum die-casted Platinum silver @ _|Sub-plate Aluminum die-casted| DXT192-14-1%P | Platinum silver
@ Piston plate Resin Black Solenoid assembly | Epoxy/Stainless steel | DXT170-C-000
® Piston Resin ) Common with
O) Spool valve Aluminum, HNBR ® |O-ring NBR 13x 11 x1 Series VZ 3000
® End cover Resin * Thread type
® Spool spring Stainless steel Nil: Re
F:G
N: NPT
T:NPTF
V. 3-3-33
S SVC



Series VZ3000

’ “*] 2 Position Single

e or 17 115
Grommet (G), (H) ) @ 3l VZ3140
VZ3140-0 §00-01 N ® o
2,4
_———’—‘—] A
] /) [
o 5
Y 3 1
ﬁ RP)
2-04.3
Manual oyerride (Mounting hole) g
(Non-locking) 5 i r g_
1 <l =&
| o o™ o
i "\
375 4 2
(Mounting hole pitglh)
s 485
2 72
IIEE |
sl .| ®
6L} 9 A
S —F =
©
@ 1= 4-Rcl4
A ! 1 ol P (Piping port)
~ M5x08 T :
(PE port) m+ S ‘Dl Ig
15 1 17 | 17
16 45.5
24
32
L plug connector (L) % M plug connector (M)
VZ3140-0LO0-01 o 74 VZ3140-CIMOC-01
§ [E =300 89.5
il ;,'i (Lead wire‘ length)
m B LT
IS e
- 3 OO
D
o Q
O: With light/surge voltage suppressor
DIN terminal (D) Built-in speed controllers
VZ3140-00DO-01 VZ3150-0000
Applicable cable O.D. =
3.5 to 67 foieiSLE al é 10
== S
FH, et
; =
Rw ] =
i LA ET‘ ™ Yh
@ @ 19.4[10.3

3-3-34

o
5



5 Port Solenoid Valve

Base Mounted Series VZ3000

L ,‘ 2 Position Double
17 1.5,
_-/ | VZ3240

Ao oF @@ﬂ ® ®

Grommet (G), (H) /5] //‘ KN
VZ3240-0800-01 @} ‘jj T }_
= = 31
= : —— 'TQ" R P)
i ! VK
2-0 4.3 .
Manual override manho'e) S
(Non-locking) _{Eﬂ* I =
; &g v El
fier—© ot FR I T
N E VFR
3.5 = = —
(Mounting hole pitch)|8.5
z 485 32 VP4
5 72 40 ——
cg O 120 VZS
EE 2 —
ool 2
i1 EEE | i VFS
ML D —
% @ - i VS§4
‘ jw # + VQ7
[ts] ::‘ L
| & -M5X0.8 ! : «
[ (EPE 2:rt) © @ @ o |3 EVS
i o aRoté VFN
24 (Piping port) —
32
L plug connector (L) M plug connector (M)
VZ3240-1L-01 VZ3240-1MCIC-01
s 108
T-%’ =300 139
§ ° (Lead wire length) 49.5
i o |
I__ d_ *h :‘_rﬂgi _1 i E gl S,
==
2 e A [
0 w| < T
[{s]
oo
Q O: With light/surge voltage suppressor
DIN terminal (D) Built-in speed controllers
VZ3240-1DC1-01 VZ3250-10100
MAX.10, 142 N o
Applié:ablle cable O.D. 3.5 to g7 5
== i = §
= £ A1E )
! & ? T
2 | i :
~
: ool
r@ @ 19.4 10_.‘;3

3-3-35

O
5



Series V___Z3000

3 Position Closed Center/Exhaust Center/Pressure Center

Qo oF
17 1.2 VZ3340
Grommet (G), (H) ® ®
VZ3420-0800-01 S Pl 21
§20-L OO B/ [4/]
My /Tlrrrlir] e
[ = [—
(%)(E’)
- é o]
]I ' lﬂr VZ3440
2-04.3 (g) (ﬁ)
Manual override (Mounting hole) / 2 I < f
(Non-locking) g M '//:_ L i
[Ots—= 5 H
1Y < I |2 3 1
] g_P N o RE)
1 s VZ3540
azs || 4 =S ® @
= (Mounting hole pitch) /D & </
g 495 | 24 MY el L im
£E o 73 47.5 jan
EE 3 55.5 o
ﬁﬂ g §] g e 136.5 RF)
8T |2
2 1 | L
2 B
X
2 | = — o
1 T 0 2-M5x0.8 (PEport) ¥
& 3 @
A of | < o} g{
15 17 | 17
16 — 4-Rc 1/8
24 45.5 (Piping port)
32
L plug connector (L) M plug connector (M)
3
VZ3§40-DLDD-01 VZ3g40-DMDE|-01
5
2
i_ 124.5 Y =300 1555
IS{E * (Lead wire length) 65
clﬂ_ Eg B [ E :E_,
= —_ ]
i B0 — | 1
= i 8|2 ~ 2
| =] | 19D
Q O: With light/surge voltage suppressor
DIN ;erminal (D) Builg-in speed controllers
V23‘5140-E|DDI:|-01 VZ3g 50-0000
Applicable cable O.D. 158.5 MAX. 10 -
©3.5t0 07 65 ﬁ ;
J;gf I 9
= =15 ™
Po7 .2 : f & S —
A - S =1 =)
~ | - g=
; a1® u‘l
O O] 19.4[10.3
3-3-36

O



series VZ3000/Base Mounted

Manifold Specifications
Manifold Standard

Manifold Specifications

Model Type40 | Typed41 | Typed2 | Type 43
Manifold type Single base/B mount
P(SUP)/R(EXH) Common SUP/Common EXH
Valve stations 2 to 20 stations
4(A), 2(B) port Position Base Base
Porting specifications Direction Bottom Side
1(P), 3/5(R) port Rc 1/8 Rc 1/4 Rc 1/8
Rc 1/8
. One-touch c4 One-touch
Port size 4(A), 2(B) port M5 x 0.8 C (fingoros ) (I';:Zijjcﬁ“ )
B (81”'29‘?:[‘::‘/4) B3 (fimng for 5/32“)
Flow Characteristics VFR
Port size Flow characteristics I
Manifold 1(P), 5/3(R)[2(B), 4(8)_1—4/2(P—> AB) | 4/2—5/3 (A/B - R)
port port  [Clamisbaf] b | Cv |Clmisban] o VP4
VV5Z3-40 1/8 M5x 0.8 0.55 0.35 | 0.15 0.64 0.26 0.16 ———
VV5Z3-41 1/8 M5x 0.8 0.59 0.35 | 0.16 0.68 0.23 | 0.17 vzs
VV523-42-01 vZ304o 1/4 1/8 074 [0.22]0.18] 0.82 [0.31 ] 0.21
VV523-42-C6 1/4 C6 0.71 0.24 | 0.17 0.80 029 | 020 [—
VV523-43 1/8 C4 055 [029]014] 074 [032] 019 |\VFS
Q Note) Value at manifold base mounted, 2 position single operating
VS4
How to Order Manifold —
Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along VQ7
with the manifold base model no. —
(Example) VV523-40-031-M5-----1 pc. (Manifold base) EVS
#«\/Z3140-5G-M5:-+-+-- 2 pes. (Valve)
#DXT192-13-1A:wwenee 1 pc. (Blanking plate assembly) —_—
VV5Z3-43-031-C4------1 pc. (Manifold base) VFN
#*\/Z3140-5LZ.--- -1 pc. (Valve)
(

#VZ3240-5LZ--+-------1 pe. (Valve)
#DXT192-13-1A:0oee 1 pc. (Blanking plate assembly)

L»The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

Flat Ribbon Cable Manifold

Flat Ribbon Cable Manifold Specifications

* One-touch wiring to Model Type 41P \ Type 43P
H H Manifold type Single base/B mount
conso"dat_e connection of P(SUP), R(EXH) Common SUP/Common EXH
external wires. Valve stations 3 to 12 stations
4(A), 2(B) port Position Base
e Clean appearance location Direction Side
The flat cable provides wiring on a Rere e 1‘(3' 3é5g*) port Re 1/8 [ oo fc 1t/18f'tt' ——
printed circuit board to the individual (A), 2(B) port Mséc?(;ﬁet' 56 P Mlll_ e étr;i'r‘;ﬁgf iting for 04)
valves at the manifo|d base, enabhng Applicable flat ribbon cable connector (Colnforming to MIL-C-83503)
the consolidation of external wiring at Internal wiring +COM specifications (For —COM specifications, specify them separately.)
H 1 1
a touch through a 26 pins MIL Applicable valve model VZ3043-2M0OZ0-VZ3053-EMOZ0
connector. 8 8
Rated voltage 100 VAC 50/60 Hz, 110 VAC 50/60 Hz, 24 VDC, 12 VDC

Q Note) Withstand voltage specifications of wiring unit part is equivalent to JIS C 0704 class 1.

Flow Characteristics

Port size Flow characteristics
Manifold 1(P), 5/3(R)|2(B), 4(A)|_1— 4/2 (P — A/B) |4/2 — 5/3 (A/B — R)
port port Cldm%(sbar)]] b Cv [Cldm*(sbar] b Cv
VV523-41P \ SYJ5043 1/8 |M5x0.8f 059 |0.35|0.16] 0.68 |0.23| 0.17
VV5Z3-43P | 1/8 C4 059 |0.29| 0.14] 0.74 |0.32| 0.19

Q Note) Value at manifold base mounted, 2 position single operating

How to Order Manifold

Instruct by specifying the valves, blanking plate assembly and connector assembly to be mounted
on the manifold along with the manifold base model no.
(Example) VV5Z3-43P-07-C4-----1 pc. (Manifold base)

*\/Z3143-5MOZ------- 3 pcs. (Valve)

*\/Z3243-5MOZ.------- 3pcs. (Valve)

#*DXT192-13-3A----- 1 pc. (Blanking plate assembly)

*DXT192-52-1-4A.-----3 pcs. (Connector assembly)

xDXT192-52-2-4A.---- 3 pcs. (Connector assembly)

LThe asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

%s\,c 3-3-37




Series VZ3000

)

y)

’ Common SUP/Common EXH )—/ Note) For more than 8 stations, supply air to both sides of 1(P) port and exhaust air from both sides of 3/5(R) port.

Type 40

1(P) port

How to Order

05

VV5Z3 - 40 2-M5

| | '_‘
Stations 4(A), 2(B) ¢ 1(P), 3/5(R)
702 | 2 stations port size port thread type
= M5 | M5x0.8 Nil Rc
20 |20 stations F G
N NPT
_Z | NPTE

How to Order

VV5Z3-41-05|1-M5

| |
4(A), 2(B) + 1(P), 3/5(n)._|

Stations ¢

E 2 stations port size  port thread type
P M5 | M5x0.8 Nil Re
_20 |20 stations F G

N NPT

z NPTE

How to Order

VV5Z23-42-05|1-C6

I I
Stations { 4(A), 2(B) —— 1(P), 3/5(R) ]
02 | 2 stations port size port thread type
: o1 Rc 1/8 Nil Rc
20 |20 stations €6 | One-touch fitting for g6 F G
B7 | One-touch fitting for 1/4" N NPT
z NPTE

Type 43

Rc 1/8

How to Order

VV5Z23-43-05|1-C4

| |
Stations + 4(A), 2(B)— 1(P), 3/5(R) .—|
T02 | 2 stations port size port thread type
§ i C4 |One-touch fitting for g4 Nil Rc
20 |20 stations B3 |One-touch fitting for 5/32" F G
N NPT
Y4 NPTE

Applicable solenoid
valve

G
VZ3040-0 00
D

G
vZz3050-0 [, 00

D
Applicable blanking plate
assembly
DXT192-13-1A
Applicable individual EXH
spacer assembly
DXT192-21-1A
Applicable individual SUP
spacer assembly
(Except VV5Z3-40 type)
DXT192-40-1A
Applicable interface
regulator
ARBZ3000-00-P

4(A), 2(B) port
( M5 x 0.8

1(P) port

Rc 1/8
R) port

Rc 1/8

How to Order
VV5Z23-41P-05 - M5

|
4(A), 2(B)4 1(P), 3/5(R) |

Stations l

03 | 3 stations port size  port thread type
: : M5 | M5x0.8 Nil | Rc
E 12 stations F G
N NPT
z NPTE

How to Order

VV5Z3—- 43P

05C4

|
__Stations 1 4(a),2(B) — T 1y e,
03 | 3 stations port size port thread type
i1 *  "c4Onetouch fitting for 4 Nil Rc
_12 |12 stations B3 | One-touch fitting for 5/32" F G
N NPT
4 NPTE

Applicable solenoid
valve

1
VZ3043- 2 MOZO
6

1
VZ3053- § MOZO
6
Applicable blanking plate
assembly
DXT192-13-3A
Applicable connector
assembly
DXT192-52-1-+A
(For 2 position single)
DXT192-52-2-+A
(For 2 position double, 3
position)
% 1:100 VAC, 3: 110 VAC,
4:DC
For “How to order
applicable connector
assemblies”, refer to
page 3-3-7.

3-3-38

o
5



5 Port Solenoid Valve

Base Mounted Series VZ3000
DIN Rail Manifold

Manifold Specifications

Model Type 45 Type 45F

Manifold type Stacking type non plug-in type Stacking type plug-in type
P(SUP), R(EXH) Common SUP/Common EXH
Valve stations 2 to 20 stations
A, B port Location Base
Porting specifications| Direction Side

1(P), 3/5(R) port C8 (One-touch fitting for 28)
Port size C4 (One-touch fitting for e4)

4(A), 2(B) port C6 (One-touch fitting for ¢6)

. MIL-C-24308 Applicable for

Connector JIS-X-5101  D-sub connector

Internal wiring — COM Note)
Q Note) It is available at +COM or —COM.

Flow Characteristics VFR

Port size Flow characteristics —

Manifold 1(P), 5/3(R)[2(B), 4(A)|_1—4/2 (P — A/B) | 4/2 - 5/3 (A/B — R) VP4

port port  [Cldm¥sbar)] b | Cv [Cldm¥sba)]] b | Cv L
Cc8 C4 059 |0.28|0.15| 0.83 |0.34|0.22 VZS

TSR (LS C8 C6 0.76 |0.23]0.18| 0.86 |0.29|0.22
Q Note) Value at manifold base mounted, 2 position single operating VFS
How to Order Manifold VS4
Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along | ————
with the manifold base model no. VQ7
(Example) VV5Z3-45FD-06-C6C-- 1 pc. (Manifold base)
#\VZ3143-5FZ---veeevvenee 2 pcs. (Valve) ——
*\/Z3243-5FZ.--- ---3 pcs. (Valve) EVS
#*VZ3000-69-1A «-evevee 1 pc. (Blanking plate assembly) L
1»The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc. VFN

DIN Rail Manifold
|Common SUP/Common EXH |

Type 45 (Non plug-in type) How to Order Applicable solenoid
) valve
VV523-45-05[DHCE| C— |  ..ofos
Stationse——————| 1_‘ e
02 ] 4(A), 2(B) vZz30s0-0 L 00

02 | 2 stations

| : port size D
20 |20 stations ca| One-touch ‘:spsp;:zz?le blanking plate
SUP/EXH block fitting for o4 Yy
. e I B —— VZ3000-69-2A
mounting position cg | One-touch
u U side: 2 to 10 stations *7'('“'”9_ for 06 DIN rail length specified
D D side: 2 to 10 stations M7  Mixed Nil Standard length
B Both sides: 2 to 20 stations et 3 | For 3 stations [(Specify a longer
= " PP specifications (M), |

. M . Sp.eIC|a.I spe;lfl(l:atlons indicate separately : : rail than the

* For special specifications, indicate separately on the manifold 20 |For 20 stations |Standard length.)
by the manifold specification sheet. specification sheet.

Type 45F (Plug-in type) How to Order Applicable solenoid

VV52Z3 -45F [ DH05/

-—---1 valve

“i— Ce6l C —E | vz3043-0FZ0

——r—4 Applicable blanking plate

Connector l 1_‘ assembly
mounting direction 4(A), 2(B) VZ3000-69-1A

u U side: 2 to 10 stations port size

D | D side:2 to 10 stations | Onetouch

B | Both sides: 11 to 20 stations o fitting for o4

Stations g One-touch
702 [2 stations SUP/EXH block | fitting for 06
R mounting position M*  Mixed
20 [20 stations For 2 1o 10 stations : One side ~ * In the case of DIN rail length specified
Nil |(Same as direction of connector mount) g:;gigications ™ Nil Standard length
For 11 to 20 stations: Both sides X 3

indicate separately
B |For 2 to 10 stations: Both sides on the manifold :
M * Special specifications specification sheet. 20 |For 20 stations

* For special specifications, indicate
separately by the manifold
specification sheet.

SVC 3-3-39

For 3 stations |(Specify a longer
: rail than the
standard length.)

O



Series VZ3000

Option/Standard Manifold, Flat Ribbon Cable Manifold

Combinations of Solenoid Installation of the VZ300 Valve ]Blanking Plate Assembly
Valve, Manifold Gasket and on the VZ3000 Manifold DXT192-13-1A
Manifold Base « Use of an adaptor plate makes it possible
Round head to mount Series VZ300 on the manifold Round head combination screw
combination screw base of Seri_es VZ.SOO(.)' . . g’ M2.5 x 7 (With spring washer)
TR % ) * The mounting direction is shown in the % Blanking plate
xv?tﬁ)s( ring washer) diagram below. Mount the solenoid so that

pring ? it will be on the same side as the single

solenoid of the Series VZ3000.

e 2(A) port of 3 port valve should be 2(B)
port of manifold base.

| Applicable base

Adapter plate assembly
DXT200-3-1A

XT192-10-2
5> A
o |

VV5Z3-40
Gasket VV5Z3-41
‘ DXT1 92611'S oes Ad Plate A bl vvezs-az
(Use qaution to DX?I'g:)eor 3 1atAe ssembly VV5Z3-43
| the orientation.) DXT192-13-3A Round head
Applicable base |r _____________ combination screw
VV5Z3-40 | M2.5 x 7
Applicable base VV523-41 | ? (With spring washer)
zxsgg':g VV5Z3-42 [ Blanking plate
5Z3- VV5Z3-43 I 13
VV5Z3-42 | DXT192-13 |2
VV5Z3-43 . I |
VV523-41P gerles VZ300 g | I
VV5Z3-43P ase mounte: : Gasket
|
_______________________ |
:—Manifold gasket Round head 1 [ A D
| SYJ500-5-5 combination screw |
M2.5%9 Dust cap

VJ3000-57-1
|

Adapter plate
DXT200-3-1
Corresponding

mark Adapter gasket

DXT200-6-1 -~ .
-~~~ Applicable base

|
|
|
|
- VV523-41P
,,,,,,,,,,,,,,,,,,,,,,,,, VV523-43P

Individual EXH Spacer Assembly| |Individual SUP Spacer Assembly|  [Interface regulator (P port

DXT192-21-1A DXT192-40-1A regulation)
Applicable b M- ———=—=——" 1 Interface regulator can be placed on top of
____________ _, Applicable base : Spring washer % : the manifold base to reduce the pressure of
rSpring washer : VV5Z3-40 | forM2.5 I each of the valves.
I for M2.5 I wgigg I Round head | ARBZ3000-00-P
: Round head Q i VV5Z -4 | gg{gw'”a on | = T
| combination | VV5Z3-43 ! J | |
| Sorow | M25X405 | Round head |
- combination
: ?I\)gg E(gg)“s ' 'l’ 1 screw E
s : i M2.5%45
| =" | | | (With spring
I I | ! | washer) -
| [ lf ; I
o . o
| | | | | |
I I ' | |
] ] | | l |
: T i | RO . I' DXT192-10-5 | ll I
I | Individual ! |
: > Gasket | | SUP spacer | ’D(i?;gzt_m_ 3 | base
: 3(R2) DXT19210-2 | | 1(P) |  DXxT1@2-a041 | | VV523-40
[ X" Individual EXH | Y 2 1 % || VV5Z3-41
: I ;C 1/8 ___________ | | VVSZ3-42
! ! (1(P) porD) Applicable base [ | VV5Z3-43
‘ ---------------- J VV523-41 | |
VV5Z3-42 | |
(5(R1), 3(R2) VV523-43 ll l
port) . ] R
Note) Please contact SMC when using an individual EXH spacer Before using, refer to page 3-3-8.
Q assembly, an individual SUP spacer assembly, an adapter plate
assembly, or an interface regulator on 41P and 43P types.
A\ Caution

[Mounting Screw Tightening Torques ]M2.5: 0.45 N-m

3-3-40

SVC

O



Option/DIN Rail Manifold

5 Port Solenoid Valve .
Base Mounted Series

VZ3000

|Blanking Plate Assembly

\Combination of Solenoid Valve, Gasket and Manifold Base

VZ3000-69-2A

Round head combination screw

M2.5X7
% (With spring washer)
Blanking plate
DXT192-13-2

Applicable base
VV5Z3-45

VZ3000-69-1A

9

Round head |
combination screw I
2.5X7 |

M.
€ & (With spring washer) |

Blanking plate

DXT192-13-2
< DXT192-10-5
Dust cap & .
VZ3000-65-1 (Use caution to

| the orientation.)

1
]
]
I
I
|
|
|
|
|
|
:
: Gasket
|
I
I
)
I
I
]
I
|
]

Applicable base
VV5Z3-45F

A\ Caution

] Mounting Screw Tightening Torques \

M2.5: 0.32 N-m
(For stacking type manifold)

Round head
combination screw

M2.5X25
(With spring washer)

Gasket
DXT192-10-5

(Use caution to
| the orientation.)

| Applicable base
VV5Z3-45

Round head
combination screw

M2.5x25
(With spring washer)

Gasket
DXT192-10-5
(Use caution to
the orientation.)

Applicable base
VV5Z3-45F

| SUP Block Disk |

| EXH Block Disk |

By installing a SUP block disk in the
pressure supply passage of a manifold
valve, it is possible to supply two or more
different high and low pressures to one
manifold.

VZ3000-79-1A

@

By installing an EXH block disk in the
exhaust passage of a manifold valve, it is
possible to divide the valve’s exhaust so that
it does not affect another valve.

VZ3000-79-1A

@

| Applicable Plug Assembly (D-sub connector cable assembly) |

Cable length Assembly part no. Component parts
1.5m VVZS3000-21A-1
3m VVZS3000-21A-2 Plug MIL standard
Number of terminals: 25
Sm VVZS3000-21A-3 Cable: 25 cores x 0.3 mm?
8m VVZS3000-21A-4

m For details, refer to page 3-3-8.

O
5

3-3-41

VPR
3
vzs
VFs
Vs
var
Evs
VEN



Series VZ3000

Exploded View/DIN Rail Manifold

Type 45 Manifold

Replacement Parts

(a) Bolt (Both sides)

(a) Bolt (Both sides)

No. Description Part no. Note
Manifold block C4: A, B port with One-touch fitting for a4
@ assembly VZ3000-50A-25 | S A, B Sort with One-touch fitting for 26
(2) |SUP/EXH block assembly| VZ3000-51A-2 P/R port with One-touch fitting for 28
(3 |End block assembly | VZ3000-52A-2D For D side DIN rail
@ |End block assembly | VZ3000-52A-2U For U side

|How to Increase Manifold Base

Station expansion is possible at any position.

(1) Loosen (both) bolts (a), which are securing the manifold onto the
DIN rail, 1 to 2 turns.

(To remove the manifold base from the DIN rail, loosen the bolts 4
to 5 turns.)

(2) Press lever (b) to disconnect the manifold block assembly at the
location in which you wish to place an additional manifold block
assembly. (However, there are no levers between () and @ or
between @ and @. They can be disconnected by merely pulling
them apart.)

(3) Mount additional manifold block assembly on the DIN rail as
shown in the Fig. (2).

(4) Press the block assemblies and tighten the bolts (a) to fix them to
the DIN rail.

Note) When there are 10 or fewer manifold block assemblies,
and more are added to make a total of 11 or more, a
supply/exhaust block assembly must also be added.

3-3-42

O

(a) Bolt (Both sides)

Hook this part onto
the DIN rail, and press
down in the direction
of the arrow.

(b) Lever



5 Port Solenoid Valve

Base Mounted Series VZ3000

Exploded View/DIN Rail Manifold
Type 45F Manifold @

VFR
VP4
@) VZS

Bolt (Both sides)

VFS

Replacement Parts VS§4
No. Description Part no. Note —VQ7
. =na_q_ca | C4: A, B port One-touch fitting for 4
@ |Manifold block assembly| VZ3000-50A-1-g¢ C6: A, B port One-touch fitting for 06 (@) L
For D side, With D-sub connector and Bolt (Both sides) EVS
@ |SUP/EXH block assembly| VZ3000-51A-1D PIR port with One-touch fiting for o8
For U side, With D-sub connector and -D side
3 [SUP/EXH block assembly| VZ3000-51A-1U | o't port with One-touch fting for 08 A VFN
@ |End block assembly |VZ3000-52A-2D For D side, set with @ @
(® |End block assembly [VvZ3000-52A-1U For U side
(® |End block assembly [VvZ3000-52A-1D For D side
(@ |End block assembly |VZ3000-52A-2U For U side, set with ®
Without D-sub connector
SUP/EXH block assembly| VZ3000-51A-1M For indicated location
A To add a manifold block assembly, add it to the U side so that the terminal number of the D-sub
How to Increase ManlfOId Base connector and the valve link position will be in accordance with the circuit diagram.

(1) Loosen (both) bolts (a), which are securing the manifold onto the

DIN rail, 1 to 2 turns. t'?féomfaﬁaﬁgmo
(To remove the manifold base from the DIN rail, loosen the bolts 4 press down until
to 5 turns.) a click is heard.
. ) . . Terminal Lead
(2) Using a flat screwdriver, press lever (b) to disengage the link of o wite soor
the manifold block assembly on the U side or the D side from the - Beldacol o Black
station i i
SUP/EXH block assembly or from the end block assembly. (11 staions) | FN 22" 14 white
(However, there are no levers between B and (D. They can be (b) Lever 2 station Boidecol 5 Black
disconnected by merely pulling them apart.) Black D-sub Connector stations){ 139 C8l 15 White
ac connector terminal no. , Bodocal
station A Gide ool acl
(8) Remove the housing cover from the D-sub connector portion of 1 " (13slﬁ"°ns){»§;23: 16 White
the SUP/EXH block assembly. (Refer to Fig. (1). 2 15 4station [N 4 Black
y 9 4 x (14 stations) | %20 12 Wit
17 e
5 18 B side coil
(4) Following the procedure shown in Fig. (2), mount the manifold block b A a;g;gzﬂ{ oo 5 Black
assembly to be added onto the DIN rail. As shown in Fig. (3), insert e 21 Ly~ il Whits
the pin of the lead wire assembly into the D-sub connector, and ~ Lead TR 10 23 6 station { Vo & Black
. . wire Qe 12 24 (16 stations) “—Av—o 19 White
attach the round crimped terminal to the screw that connects the assy & 5 2 B side coil
wires. Uside 7 sten, {[5doech  poe
ite
After inserting the pin G B2l g stat P2 8 Black
P : : , @ station 3 d ac
(5) Press the plock assemblies and tighten the bolts (a) to fix them to lightly pull on the lead ; | (mmms){ 55Tde co!\ B White
the DIN rail. wire to verify the lock. @ B cation (M 9 Black
Note) When there are 10 or fewer manifold block assemblies, ‘Stations [&—&1 (19 StaiionS){ "% 22 White
and more are added to make a total of 11 or more, a Housing side / D side sta_tion{ X% 10 Black
supply/exhaust block assembly must also be added. Fig. (3) How to insert lead (D ) Ii for the ctas? ofa (20stations) 3 23 White
H H -Sub connector for | oM
wire assembly pin both sides (FB type). oon® 13 Red

———o0 25 Red

3-3-43

O
5



Series VZ3000

13
Grommet (G), (H) v 55
4-04.5 = =
(Mounting hole) 2.5
© By o J
© i IRy
2, 2 T 8, 8| %
B N
B || 2 -
. 6-Rc 1/8
- (1(P), 3/5(R) port)
1
L2 9 Manual override G: 300 mm
(Non-locking) H: 600 mm M5 x 0.8 (PE port)
Li (Lead wire length)
0
? o
[aY]
NE 2n-M5x0.8
il (4(A), 2(B) port)
= iy
b-&-Bd)- Ry GBQ’*%E
SGAS © GAG |
i
‘ (Pitch)
# P=16| 23
e .
Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L 58 74 90 | 106 | 122 | 138 | 154 | 170 | 186 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330 | 316
L. 40 56 72 88 | 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328
L plug connector (L) M plug connector (M) DIN terminal (D) Built-in speed controllers
77.5
54.5 [57.5) ° "
5 Applicable cable O.D. MAX. 11 435
=300 63.5 4 g 83.51t0 67 35
(Lead wir‘e length) [ 70
o "— el
= T | | i
[liD | (
¢
i ; U
10 0 ‘
8l o P83 0¥ ol
& @ i 0 ! A
A B o ﬁ_'_@ ﬂi\El
- q = 2
8 E
@ é’ ﬁ
Y 1 |
= - =
§ S 1
L -V ok Pg7
E
el
©
3
Q O: With light/surge voltage suppressor
3-3-44

O

SVC



5 Port Solenoid Valve
Base Mounted Series VZ3000
., Type 41 Manifold: Side Ported

VV523-41-Station 1-M5

Manual override

Grommet (G), (H) (Non-locking)
y I M5 x 0.8 (PE port)
3_9| e With filter
|
\ 12
33 ]
e ] ol © 0 %
™~ | : — ol | 2 =
AR 2 CE L . G
(o] | l | | i = a1 &l ™
® I~ oA PAADABA A Pzn)
1 @ :} ! P A7 ]
(Pitch) \ 2-05.5 1 “i \ 4-Rcls
P=16/13.5 (Mounting hole) (1(P), 3/5(R) port)
—u
L2 4.5 G: 300 mm
= H: 600 mm
L1 .
(Lead wire length)
Lo | 1
[ ] ‘
4 L [fto| o] dol
¥ ol AD & © © @A
WO 6 BO O 9 O B
7
2n-M5x%0.8 13
(4(A), 2(B) port) P=16
(Pitch)
(mm)
Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L+ 52 68 84 100 116 132 148 164 180 196 | 212 | 228 | 244 | 260 | 276 | 292 | 308 | 324 | 340
L. 43 59 75 91 107 123 139 155 171 187 | 203 | 219 | 235 | 251 267 | 283 | 299 | 315 | 331
L plug connector (L) M plug connector (M) DIN terminal (D) Built-in speed controllers
= . 815
) ‘ 74 MAX. 11 475
- oL —
¢ @ _gi ) 35
J = * 3 _i * I i
S T
g @L e
U 5 J
%@1 . 1 - Ua |8 i
3 © “w— a"
gl 8 T @ 0 g, KX i TL & &
L Relko) T 0l = _——
|~ |-
" @)y 8 © e
1 2 I
. i
’J ll‘l ﬁ
| 1
— y i =
i | <
=300 675  _ j |
i .5 |61.
(Lead wire length) 585 ° 9351007
X
<
=
Q O: With light/surge voltage suppressor
3-3-45

SvVC

O



Series VZ3000

Type 42 Manifold: Side Ported

VV523-42- Station [1-01

~1 Manual override
Grommet (G), (H) (Non-locking)
i M5 x 0.8 (PE port)
— o
J 17.5
14
o — LA ﬁﬁ 5 : )
[5e) 1l T A
A 8¢ EF’: 8 2 }
o | FIT b :>|A;>‘A SAlpA - 33
© AR o
8 iy |m il \ \ (52 g
T o
<P'_°1h7) 1811 \__2-065 a |l =
| = - (Mounting hole) 4-Rc 1/4
| (1(P), 3/5(R) port)
i -
=
) 6.5
B L2 T G:300 mm
- L1 o H: 600 mm
(Lead wire length)
A |
n 1 AN A
©
g | 00000
< @
y e ﬁ{—' @ﬂ}f}
/ 6
2n-Rc 1/8 =
(4(A), 2(B) port) (Pitch) 24.5
P=17
(mm)
Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L 66 83 100 | 117 | 134 | 151 168 | 185 | 202 | 219 | 236 | 253 | 270 | 287 | 304 | 321 338 | 355 | 372
L2 53 70 87 | 104 | 121 138 | 155 | 172 | 189 | 206 | 223 | 240 | 257 | 274 | 291 | 308 | 325 | 342 | 359

L plug connector (L)

M plug connector (M)

DIN terminal (D)

Built-in speed controllers

)
2
°
£ 90.5
ro = 83 MAX. 11 56.5
- ol g =
‘ A=y ! 35
L =4 ¥ .l_‘
= i
4. - 0 g
o 0 ; 2 [ 2
T 2 ot
0 o - | . | e
8 = & 9l o — (s
2 | 8 B @ L | ®
. S
1 : , 1l
il l b | J
IT | l - J:i,‘.v
=300 76.5 i Pa.7
(Lead wire length) ' 675 [7035] ° Applicable cable O.D.
== T 23.5t0 87
B
<
=
Q O: With light/surge voltage suppressor
3-3-46

SVC

O




5 Port Solenoid Valve .
Base Mounted Series

VZ3000

2 Type 42 Manifold: Side Ported
Manual override

VV5Z3-42- Station 1-C6
(Non-locking)

Grommet (G), (H) - . M5 x 0.

8 (PE port)

(Lead wire length)

56.5

10
[To T
N1 BOOOO9s
1
2n-One-touch fitting 20
(4(A), 2(B) port) Applicable tubing model: T0604
\ P=16

(Pitch)

A
ﬁ g 17.5
% VJ I — i ": m% bl Ii ]
~ |sdledlediadiag T 25 | . &
Q & | LI R 6 o &Y
gl K] o PADPADADABAl N =€ © N
- | \ % | (]
(Fiilt’ch) 2 [l i aC
18 -06.5 T
P=16 (Mounting hole) 4-Rc 1/4
N \ = . (1(P), 3/5(R) port)
L2 ‘6.5 G: 300 mm
L1 H: 600 mm

(mm)

Stations| 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17

18 19 20

L 65 81 97 113 | 129 | 145 | 161 177 | 193 | 209 | 225 | 241 257 | 273 | 289 | 305

321 | 337 | 353

L2 52 68 84 100 | 116 | 132 | 148 | 164 | 180 | 196 | 212 | 228 | 244 | 260 | 276 | 292

308 | 324 | 340

L plug connector (L) M plug connector (M) DIN terminal (D) Built-in speed controllers
%, ‘ 90.5
she . 83 MAX. 11 56.5
‘ i Sy i = 35
‘ K 1 - ] —
I | | 10
"= s s 413 T
D =] .
] N 9| o ol & ] @ B @
A I - ol «_o
T ke ;P o jﬁﬁ”
. N i,
i | | =<y
=300 76.5 | i
. o ~__Applicabl ble O.D.
(Lead wire length) 675 [705] ; — efaas.seto o7
<
=

Q O: With light/surge voltage suppressor

SvVC

O

3-3-47

A

VFR
VP4
E
VEs
VS4
vQz
Evs
VFN




Series VZ3000

VV523-43- Station [1-C4

Manual override

(Non-locking)
Grommet (G), (H)
M5x0.8
[ = /" (PE port)
J } 12
[Ty)
g = ¥
I ~ ~ ]
0 o a- { T
o | 2 S AbdEE
& N Y 0
\___ 2055 |l 0
(Mounting hole) | <
= =
T g 4-Rc 1/8
rﬂ (1(P), 3/5(R) port)
L2 4.5 G: 300 mm
o L1 H: 600 mm
(Lead wire length)
\
0 o
M~ T T
S L R R e =N
Yol B ('ﬁ 42 (1 B
2n-One-touch fitting /ijﬁ 13.7
(4(A), 2(B) port) (Pitch)
Applicable tubing model: T0425
(mm)
Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L. 52 68 84 100 116 132 148 164 180 196 212 228 244 260 276 292 308 324 340
L 43 59 75 91 107 123 139 155 171 187 | 203 | 219 | 235 | 251 267 | 283 | 299 | 315 | 331
L plug connector (L) M plug connector (M) DIN terminal (D) Built-in speed controllers
<
(o]
15
(0]
1S 81.5
S o 74 MAX. 11 47.5
™ | © - >
-~ i | o 35
Y i = v Lol
- A 1 o
] -
' ‘ {& -
13 U | i S .|
-a_
o8 P o 3 | i F1o o | O
al = b = |y @ 1]
g I BT B AARR) o |[©
g [l J-é 1 5 4 I
Oy ‘ ||
- ] Ul w 5
< || Ll 1 l
Y 5 : ‘ ‘ & 2/ —=g] |
=300 67.5 T
(Lead wire length) =) Pg.7
58.5 ¢ Applicable cable O.D.
<§( 3.5 t0 07

Q O: With light/surge voltage suppressor

3-3-48 SVC

O



5 Port Solenoid Valve

Base Mounted Series VZ3000

=
/<,J

iﬁ;jk

i}
«~ Type 41P Flat Ribbon Cable Manifold: Side Ported
o

* <, VV523-41P-/Station-M5

2n-M5 x 0.8 (Pitch)
@A), 2(B) porty \P=17:5__ 26

5.5

VK
(Light/Surge voltage suppressor) L1
L2 7.5
A side —
HT T VFR
§ T —
- Pitch i
il P VP4
i i ] 12.1:\ VZS
¥ @ d |d (o e [&] % gl
8 = e e P
o = &
il R 1 it VFS
© I I ©|1n © —
o f Lottolifolifo] L&ﬁ 0 \L ™ VS4
[l R BRRE A VsS4
il |2 il ] 4-Rc 1/8 —
% "?@ % Ea = (1(P), 3/5(R) port) VQ7
2—p55 / ——
Mountin, hoTe Triangle mark Evs
B side
Manual override —
(Non-locking) (Station n)eeeeeseeesseeeres (Station 1) VFN
0
|
28.5 | o
Connector polarity indicator - . ; b~
polarity Applicable connector: 26 pins MIL
(Conforming to MIL-C-83503)
I (mm)
Built-in speed controllers Statons] 3 | 4 | 5 | 6 | 7 | 8 | 9 [ 10 [ 11 | 12
L 77 | 945 | 112 |129.5| 147 [164.5| 182 |199.5| 217 |234.5
MAX.11 475 L2 62 | 79.5 97 | 1145 | 132 |149.5| 167 |184.5| 202 | 219.5
3.5
i1
L U "
et @
12 .
ZSMC 3-3-49



Series VZ3000

Type 43P Flat Ribbon Cable Manifold: Side Ported
VV5Z3-43P- Station -C4

2n-One-touch fitting (Pitch)
(4(A), 2(B) port) P=17.5 25.3
Applicable tubing model: T0425 ©

L1
(Light/Surge voltage suppressor)
L2 75
{
I
O i
i]15ay5 il
t EJ (Pitch) ©
_ _LiP=17.5 13.5 0] 12 é
i I 1 =
B L_Jh — — )
{‘0 ] [ d=l -
n o L al © G—T‘Tq; | il H— ¢ =
5 [T]
8 | (ﬁ [ | q ~ &
= /;,{Dn Do P8 |De Pa D || — =
8/ laleleldlsr | e s
A L 1PN IRl IR P 5 e
T B
junf) | uuly| [unf) juny | un i T ‘ 4-Rc 1/8
AW A v Triangle mark f (1(P), 3/5(R) port)
Yl b e b R
2-05.5 W W i
(Mounting hole)
Manual override
(Non-locking)
I (mm)
Built-in speed controllers Stations] 3 | 4 | 5 | 6 [ 7 | 8 | 9 [ 10 [ 11 | 12
L 77 945 | 112 [129.5| 147 [164.5| 182 [199.5| 217 |234.5
L. 62 79.5 97 |114.5] 132 |149.5| 167 |184.5| 202 | 219.5
MAX. 11 47.5
1.1 .35
! |
i
L U "
el — 4
=t
|
i
il )

3-3-50

o
5



5 Port Solenoid Valve
Base Mounted Series VZ3000
Type 45 DIN Rail Manifold (Non Plug-in): Side Ported

c4c
VV523-45- Station D- S0

c4c
Grommet (G), (H) ca VV523-45-|Station B- {.
2n-One-touch
» fitting  (Pitch) (Pitch)
2n-One-touch fitting (Pitch) A B por) 12P:16 28 P16 28
(A,Bport) P=16 28 Applicable tubing model gy, 7]~ ‘
Applicable tubing model C4:T0425 T t T ml { }I i
C6: T0604 o L W o8 O ] WAL T @ el @% SHIY
5L alla. ol v
gi‘g O : %% 5 %tj )!: @ ]@i VH' WL WL (. ‘V@V. @@
‘: i @. i A é\ ib H;I
\One-touch fitting port (P, R port) Lol el * i
Applicable tubing model: T0806 ﬁ
L3 L4
VFR
=g L
N 8 j [1] o 7 VP4
e — 3 —
9 g2 e 1 ek I= VZS
8 Bl o beml
ST =
DIN rail Q] =] ﬁ VFS
: Rt Manual m L1
DIN rail 7 Manual il VS4
holding screw L2 (Non-locking) | 5 H: 500 —
(Rail mountingL?ole pitch 12.5) (Lead vs.lire length) (mm) VQ7
Stations] 2 | 3 | 4 | 5 6 | 7|18 |9 10 —
Li [135.5[148 [160.5[185.5198 [210.5[223 [248 [260.5 EVS
(Station n)--.-veveeeeee (Station 1) L. [125 |137.51150 [175 [187.5200 |212.5237.5250 —
L. [104 [120 [136 [152 [168 [184 |200 |216 |232 VFN

L. [16 |14 | 125] 17 | 15 | 13.5| 115/ 16 | 14 (mm)

Stations| 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
Li |273 |298 |310.5]323 [335.5/360.5[373 [385.5[398 |423
L. |262.5/287.5]300 |312.5[325 |350 |362.5]375 |[387.5[412.5
Ls [248 |264 |280 [296 |312 |328 |344 (360 [376 |392
L. | 125] 17 | 15.5] 13.5| 12 | 16.5| 14.5 13 | 11 | 15.5

(mm)
Stations| 2 3 4 5 6 7 8 9 10 VV5Z3'45'U' 838
L. | 1105 1355 | 148 | 1605 | 185.5 | 198 | 2105 | 223 | 248
L. | 100 | 125 | 1375|150 | 175 | 187.5 | 200 | 21255 | 237.5
L. | 88 | 104 |120 |136 | 152 | 168 | 184 | 200 | 216

L. 115 | 16 14 125 | 17 15 135 | 115| 16 (Pitch)
28 P=16
L plug connector (L) M plug connector (M) DIN terminal (D) L=1¢TL
% 7477 97
5 = 895
T ;| Pg.7 A
=300 g3 gre 2
(Lead wire length) o =L
L= é), _
' 0
[eo]
% L}]_V n o E
o == 2 3
8 " - & o
o | i )
L1 - :
|
Applicable cable O.D. 3.5 to o7
(mm)
Stations| 2 3 4 5 6 7 8 9 10
L. [110.5[135.5/148 [160.5/185.5/198 [210.5223 [248
L. [100 [125 [187.5/150 [175 |187.5[200 [212.5237.5
Q Ls |88 [104 [120 [136 [152 |168 [184 [200 [216
O: With light/surge voltage suppressor L« | 115/ 16 | 14 | 125 17 | 15 | 13.5] 11.5] 16

SVC 3-3-51

O



VZ3000

Serie

Type 45F DIN Rail Manifold (Non Plug-in): Side Ported

VV523-45FD-[Station- 7€

C4
2n-One-touch fitting (A, B port) (Pitch) 2n-One-touch fitting ~ (Pitch)
Applicable tubing model P16 268 \ ~ (A, Bport) 12P-=16--2-8---,
C6: T0604 [ | Applicable tubing model oo
T ™ T T T T 3] . V.7
o g_gI \=4;|—*;1, g ;% T &l o | C4:T0425
m = | Q\s ﬁ\'\yzub‘] » "QI - LI
SClCiEelchem: 8= ke
[ i @
Sl (] Tas) N One-touch fitting port (P, R port)
Applicable tubing model: T0806 NiEn|n
L3 L4
. g e .
g [ofolol “hio ¥ | [Dside
ai=g g 3
B vy ——— . l@‘:‘ E‘\'Jl 1 =
0|0} L[] 16 \?r'r 18 3:
[T S T A 111 B Il p =
_7LD 5 | ? L
WHHe 2
DIN rail ’(b@:?:*é ;_E ‘
DIN rail é N i - i)
holding screw ﬂ ﬁ ITI W{JTI ﬁy | =
ovarnae 41| Terminal no. 1 ) {J|S'X'5101
(Non-locking) ~—/ = Applicable connector D-SUB | MIL-C-24308
L2 )
(Rail mounting rlw-ole pitch 12.5)
1
(Station 1) D side connector (mm)
mm
5 Stations| 2 3 4 5 6 7 8 9 10
§ ol@ L 110.5 | 135.5 | 148 160.5 | 185.5 | 198 210.5 | 223 248
= ~| 2 L. 100 125 137.5 | 150 175 187.5 | 200 212.5 | 2375
] e o Ls 88 104 120 136 152 168 184 200 | 216
Ei’=‘ Ls 11.5 16 14 12.5 17 15 815 11.5 16
Separation lever N R
(Push type) VV523-45FB-B-8§8 (2 to 10 stations)
VVSZ3.45FU cac VV523-45FB- Station|- SaS(11 to 20 stations)
) ) “c6C (Pitch)
P=16_28
7'T;I i I\E’ a“ Hf_rt {1
e O |
mlh
milm l+\ L T
L3 L4
] o
sa) jua] P—
T[F
. vedy =
i v g [0 ! b
t L B
B B8
= | [ b H
h — [an] jusj uE)
[To{llo} B o JS .‘3 |‘€|| |||€i |v§ i &ué‘l
8aF | § S mAl L
LIS @F' - e -
& ol M
et 531 i FES1 ot Pl o (mm)
fnal Il ‘ngs il ] Stations| 2 3 4 5 6 7 8 9 10
L. [135.5/148 [160.5(185.5[198 [210.5(223 [248 [260.5
L2 5 L. |125 |137.5/150 |175 |187.5|200 |212.5|237.5|250
L Ls [104 |120 |136 (152 (168 |184 [200 [216 |232
(mm) La 16 14 12.5] 17 15 13.5] 11.5| 16 14 (mm)
Stations| 2 3 4 5 6 7 8 9 10 Stations| 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L+ |110.5/135.5|148 [160.5|185.5/198 |210.5|223 |248 L. [273 |298 [310.5|323 [335.5|360.5|373 [385.5/398 [423
L. [100 [125 |137.5|150 |175 [187.5|200 |212.5|237.5 L. [262.5/287.5/300 [312.5(325 |[350 |362.5|375 |387.5/412.5
Ls 88 |104 [120 |136 |152 |168 184 [200 |[216 Ls |248 |264 |280 [296 [312 [328 |344 |360 [376 [392
Ls 11.5| 16 14 125 17 15 13.5| 11.5| 16 L. | 12.5| 17 | 155/ 13.5] 12 | 16.5| 145 13 | 11 15.5
3-3-52 V.
< SNC




Series VZ -
Made to Order Specifications:

Please contact SMC for detailed specifications, dimensions, and delivery.

1. Solenoid Valve: External Pilot Specifications

Applicable solenoid valve series
VZ3000/5000

(Non plug-in type only) VK
Model no.
HE R EREGE
VZi 0 ( ) —X20
I — | —
VFR
Entry is the same as standard products. ——
VP4
VZSs
Specifications —
Operating pressure | Main pressure —100 kPa t0 0.7 VFS
range (MPa) External pilot pressure 0.15t0 0.7 ——
Pilot exhaust method Pilot valve individual exhaust VS4
Dimensions vQ7
VZ3000: 8 mm longer —
VZ5000: 8 mm longer EVS
JIS Symbol VFN
Body ported L
2 position single 3 position closed center
@ @ X
e T ARG !
M \\ m : (4 )1 l(2) |
Pleyrina ™ AD 11 [+
51 3 !
MR | Moo M
““““““““ 'T 51 38
X RIPIR?)
2 position double 3 position exhaust center
3 i
[ etaibrietnittat <+ | Attt ittt
LA B ! ! !
95 , : @ 8 |
T TS
1 3 1 3
Ry P)R2) R)P)R2)
3 position pressure center
X
R e e 1
' A B :
! 4,12 :
Pl A
Myyrlgrgl ™
51 3
R (P)(R=)
3-3-85
Z SNC



Series VZ

Made to Order Specifications:

Please contact SMC for detailed specifications, dimensions, and delivery.

2. Solenoid Valve: Special Manual Override

Applicable solenoid valve series
VZ3000
(Non plug-in type only)

Model no.

vz3 DDD—D_D_D@(Q)

—

Entry is the same fManuaI override

as standard products. A Push type A

E |Push-locking type E

Dimensions: Single

3. Solenoid Valve: Opposite Mount of Solenoid Assembly

Applicable solenoid valve series
VZ1000/3000/5000
(Non plug-in type only)

Model no.

vz; JOCHOOO O - x

Entry is the same as standard products.

Dimensions: VZ1120-JG-M5-X1

Push type A
48

Manual override
(Push type A)

«Q
Y

i'—;—'ﬁ:
oo | 4]

Push-locking type E

48

7T§‘@$@_

I=+Xo0!
o

=1}

Manual override (Push-locking type E)

Pressing makes the valve operate. The valve
can be locked in the manual override position by
turning it to the direction that the arrow shows
while keeping it pressed. If it is not turned, it can
be used as a non-locking push type.

A Caution

gty

M~

— = When operating the lock
with the driver, use a
watchmakers’ screwdriver

| Lz and turn lightly.

(Torque: 0.1 N-m or less)

485

A Manual override
G-a% (Non-locking)
2-02.6
w (Mounting hole
urg)' for manifold)
ol | CI T
0 = <
R o 92 & ~ o
14l 2 20 L |
23 15
4-M5X0.8

(Piping port)

Note) Because the manual override unit protrudes, the manual
override could activate unintentionally if the protrusion is
touched or an object falls on it. Therefore, take the proper

preventative measures.

3-3-86

O



Series VZ =
Made to Order Specifications:

Please contact SMC for detailed specifications, dimensions, and delivery.

4. Manifold: Common SUP/Individual EXH Type

Applicable solenoid valve series
VZ3000

Common SUP/Individual EXH type

VV5Z3-21-03
Specification Model no. App"cab'z solenoid valve
Common SUP/Individual EXH1t/ype VV523 — 21 — 05 3 - VZz3020-0 f00- ’\8/"?
1(P) port Rc V8 D 6
T — statins 1| Ay, orwinapee
; 02 |2 stations thfead type DXT192-13-1A
20 |20 stations W Ro Applicable throttle valve
- 00F G DXT154-34-1A
O0ON | NPT Applicable silencer
00T | NPTF AN120-M5

Note) Refer to page 3-3-25
for manifold option.

Dimensions: Grommet Type
Q Note) To use the VZ3[123 with a throttle valve mounted on it, open the throttle valve one turn or more from the fully closed position.

(Pitch)
P=16 Manual override
- oh (Non-locking) M5 x 0.8 (PE port)
&S =
= 4045 =
i ! ‘ Mounting hole
| | 2-Rc 1/8
8 o 5 e K — [ M /(1P port)
w 1 25 T s L : =y
b l i | 7 (4(A), 2(B) port)
I Faedtaiater F
o = s Iz of & - (@ 2
e~ N I RRS 91
- SHFE : ) H @
i -
wn w
=] D1 D 0
emae—— =
Lz 6
L1 =300
(Lead wire length)
n
Q
o
ol &
©Q
0
2n—M5X0.8
(5(R1), 3(R2) port) )
Stations| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L. 50 66 82 98 114 130 146 162 178 194 210 226 242 258 274 290 306 322 338
L2 40 56 72 88 104 120 136 152 168 184 200 216 232 248 264 280 296 312 328

%svc 3-3-87



	VZ3000: Body Ported Valve
	Specifications
	Flow Characteristics/Weight
	Component/Replacement Parts
	Dimensions

	VV5Z3: Body Ported Manifold
	How to Order
	Dimensions

	VZ3000: Base Mounted Valve
	Specifications
	Flow Characteristics/Weight
	Built-in Speed Controllers
	Component/Replacement Parts
	Dimensions

	VV5Z3: Base Mounted Manifold
	How to Order
	VV5Z3: DIN Rail Manifold
	Dimensions

	Made to Order Specifications



